BOILER SIZE AND QUANTITY

|1TEM | PART NoO. DESCRIPTION 36" 48" 60" 78" 96"
LP|{HP |[LP| HP |[LP | HP |LP| HP |LP | HP
104-399 YOKE, HANDHOLE 6
104-449 YOKE, HANDHOLE ° 7 6 6 6
1 853-48 YOKE, HANDHOLE 6 7
953-50 YOKE, MANHOLE 2l 22| 2|2
258-10 HANDHOLE COVER ASSEMBLY 616 16
258-11 HANDHOLE COVER ASSEMBLY 6| 6
2 258-12 HANDHOLE COVER ASSEMBLY 717
258-13 HANDHOLE COVER ASSEMBLY |6 | 6
821-187 COVER, MANHOLE LI L U I IO A T N IO
853-152 | GASKET, HANDHOLE 717 16({6|6)] 6 |6] 6
3 853-209 GASKET, HANDHOLE 6| 6
853-618 GASKET, MANHOLE 131 1 111
868-366 BOLT, 3/4"-10x 4-1/2" LG 2 2 2
4 B868-751 BOLT, 3/4"-10 x 6-1/2" LG 2 .2 2
868-17 NUT, 5/8"-11 6|6 {77 166 6] 6|66
5 869-65 - NUT, 3/4"-10 2121212121} 2
952-101 WASHER, 5/8" FLAT 6| 6 {77 ({66 |66 6|6
® 952-124 WASHER, 3/4" FLAT 2|1 212121212

THIS HALF FOR WELDED IN RING

MANHOLE

HANDHOLE




